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Note : 1) All questions are compulsory.

2) Use of calculator os not allowed.

Q.1 A) Choose correct alternative for each of the following questions.

4
1) AABC and ADEF are equilateral triangles, A(AABC) : A(ADEF) = 1:2 . 1fAB = 4 then
what is lenglth of DE
A) 2/2 B) 4 C) 8 D) 4/2
2)  Height and base of a right angled triangle are 24 ¢cm and 18 em find the length of its
hypotenus.
A) 24 cm B) 30cm C) 15 cm D) 18 em
3)  Acircle touches all sides of a parallelogram. So the parallelogram mustbe a ................
A) rectangle B) rhombus C) square D) trapezium
4)  The maximum number of tangents that can be drawn to a circle from a point out side
WIS i,
A) 2 B)- 1 C) Oneandonlyone D) 0
Q.1 B) Solve the following sub questions : " 4
1)  In the given figure, state which two triangles are similar and by D
which test ? I
!
197
B
2) Infigure ZPQR = 90°, seg QN L seg PR, PN=9, NR=16 F
Find QN.
3) Fill in the blanks : Q
Opposite angles of a cyclic quadrilatral arc ...............
4) Draw Seg AB is 5 cm & bisect it.
Q.2 A) Complete the following activities : (Any Two) 4
1)  Complete the activity for find hypotense AC with the A

help of given information in AABC .
Solution : ZABC =90°. BC = 4,/3 c¢m

Oppﬂsite Side Of angles 600 £ E

5— X hypotenuse

P.T.0.
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2)  In the figure, chord MN and chord RS intersect at point D. IfFRD = 15, DS = 4,

MD = 8, find DN.
Solution :
Chords MN and RS intersect each " .
Other at point D inside the cirele
.'.DMxDNz—_—IxDS N
8 x DN = [ | x 4 )
- DN = ‘["":
*. DN = A\ |
3) In the figure, AB|| CD [| EF .
IfAC =5.4, CE =9, BD = 7.5 then find DF A f B
< >
Solution : AB|| CD || EF
C D
AC - - R

>DF =| |
Q.2 B) Solve any four of the following sub questions : 8

1) Base of the triangle is 9 and height is 5. Base of another triangle is 10 and height 1s
6. Find the ratio of areas of these triangles.

2) Find the length a diagonal of a rectangle having sides 11 ¢cm and 60 cm.

3) Two circles having radius 5.5 cm and 4.2 em touch each other externally. Find the
distance between their centres.

4) Draw a circle of radius 3.6 cm. Draw a tangent to the circle at any point on it with-
out using the center.

5) Find QP using given information in the figure.

N

Q.3 A) Complete the following activities. (Any One) 3
1) Draw a circle with radius 4.1 cm. Construct tangents to the circle from a point at

a distance 7.3 cm from the center.
2) In figure, XY | | Seg AC. If 2AX = 3BX and XY = 9
Complete the activity to find the value of AC.

Activity : 2AX = 3BX 3
., G |
" BX 2
AX + BX _ I:_—l 0 D A
BY 5 by componendo B v
AB _ 5 (1)
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. ABCA ~ ABYX ... [ | test of similarity.
A A
O BY X))

............. corresponding sides of similar traingles

] 9 < Ac=[ | . from (1)

Q.3 B) Solve any two of the following sub-questions: 6

Q.4

Q.5

1)

2)

3)

4)

1)

2)
3)

2)

In AABC Seg AP is a median. If B! = 18, AB* + AC? = 260. Find AP.
S

In figure, ray PQ touches the circle at point Q. PQ = 12, PR = 8§,

find PS and RS. :

In the figure, chords AC and DE intersect at B.
If ZABE = 108°, m(arc AE) = 95° , Find m(arc DC).

Solve the following sub-questions : (Any Two)
In AABC, ZBAC = 90° Seg BL and Seg CM is a median.
of AABC then prove that
4(BL* + CM?)= 5BC2
C
Prove that " tangent segments drawn from an external point to a circle are conguent. "
APQR ~ ALTR. In APQR ,PQ =42 cm. QR =5.4 cm , PR = 4.8 cm. Construct APQR
and ALTR, such that -2 =3

Solve any one of the following sub questions :
Line M intersect sides AB and AC of AABC in the points P and Q respectively.

AP =4.2, PB =6.3, AQ =4, QC = 6. State, with reason, whether line m is parallel

to side BC or not.
Draw a circle with center P. Draw an arc AB of 100° measure. Draw tangents to the

circle at point A and B.

-



